FR26FEERRXFEDIHINE

3AR (BfI:M)
AR | XHERD XHGA X e
3A19H =& TR6EEXRTAREHIKLIBREIE /1) 3,000
3A25H 28 |FRIEEXZRETELRECEREBERESE (3/2]) 5,000
Bt 8,000

2R % (Bfr:M)
AR | XHERD XHEA X e
2A3H FE |[EERURDER BHER BINABIHEIZKLD) 29,200
28178 BE  |BER HEFBEOER) 1,436
Bt 30,636

1B % (Bf:[M)
AR | XHERD XHEA X e
18148 RE |FHEEEZEMI=TII7EEER 2000
1A14H SE XEMERXMOARFERILERE (1/16) 5,000
18198 28 |(PRIEEEEISEFHFERESKE (1/20) 5,000
18228 28 |FR6EETMAEHESFERSE (1/2) 5,000
1A30H Gika BER EEBEE BIAE 1,533
18308 Bl FHRK BEE BIIAE) 10,000
a&t 28,533

12 % (Bfr:M)
AR | XHERD XHEA XHEEE
1285H 28 |XETEBELOBHRES 6,000
12858 28 |ER- - HROEHHREBEEERB/NA—T 1 —2E(12/6) 2,000
12A118 SE FREFEAT—LEF v U EA VREBLEOBROBEELSE (12/12) 5,000
12H18H H FER(FHREFEBEEOR) 1,533
12H18H Bl HEREER (FEHREFBZEORXROBERADEDKLRE) 2,060
12A18H HaEl HEAK (FHRFEZEOXRDERK) 5,000
= 21,593

1A (Bfi:M)
AR | XHERD XHEA e
11H6H 2% |TIRETGFRERZOSKE (11/7) 5,000
11868 S8 |77 mHHETARBOESE (11/8) 6,000
11128 20t |[SEFRERMAHBELER 3,450
118148 28 |BERMNMHRHEELXRESE 2,000
118148 2% |¥$58RERREEREBHELE 5,000
=X 21,450

108 % (Bfi:M)
XHABR | XHER XHEA e
10H2H =y AEH_REREEZENESRE (10/5) 10,000
108218 BE |BER (Eh %) niREERER 1,533
10A28H| ZWfh [ITBHRBFLER 8,572
10828H| Z0fth |[ITBRHEBFLER 11,886
it 31,991




98 4 (B M)
XHEAR | XHERHY XHGA e
9A5H =8 |RUEZKBEARNAEZELRSNES=E/6) 6,000
98118 2E |ZR-HOEMHNIEEIRKE9/13) 3,000
98228 S8 |EBRTRAR—YLEMMEEE -BRE IREX-BEES 4,000
9R26H| o |KBEE RFNMIABROFLIEL 8,970
9A30H| oM |[KBERE REMMHRREOFLEKGEMNS) 2,990
Bt 24,960
8A» (Bf1:M)
XHEAR | XHERHY XHEA e
8A1H =& |FEIEREEMIEEREHFIEREG/3) 5,000
8A1H £E  |EET-TRANEETILUR YT SR B LR ERERREG/2) 5,000
8A18H Bt BERCMREASHE) 1,047
Bt 11,047
785 (Bf5:M)
XHEABR | XHERHY XHEA e
78158 =& |[ZETMRBEBILHEEERFERIBESBHEREE(/22) 3,000
Bt 3,000
68 7 (Bfr:M)
XHEABR | XHERHY XHEA e
68128 0t |RKBRZLEERFEMRITEBEEEETEEREME6/13) 5,000
68258 2E |TH26FEEDEAREHRERIAREEE6/27) 5,000
= 10,000
5A% (BfE:M)
XHEAR | XHERHY XHEA e
5A28 =& |TIRETSHREN=SE(5/3) 5,000
58158 28 |TR26EEXETMR4AREZEMEIRESBERELSE 5,000
58208 S8 |TFR26EEXREHMI_TIS7ESESREKEG/21) 3,000
5A21H 28  |FIIAYT—F4T - DvNUERRT—URESSE(G/22) 3,000
58228 28 |[EEBISEHEE-BEBHEIREG/23) 5,000
=5 21,000
485 (Bfi:M)
XHEABR | XHERHS XHEA e
48158 Z0fth |20t (T1ARIH) 25,500
48168 E=y T2 EEHBEGRFHLIDIESE 6,000
48238 E= EEMESBEASHKREBHREIRE@/24) 6,000
=k 37,500
RET 249,710




